32+ V22
@ V32 -

@

© VE- VE

(=2)?

@ 25 + (- V2)?

™ Y

[ m

— D~

N _,AO

o I __1__/l
N 0 [a\]

I oA e
__2__ I+ N

| o Il __@
43_22

n/_._2(
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D V32— \/(-5)2+ V22 =3-5+2=0

@ (-2)2-(-V3)2- V52 =2-3-5=-6
2\? 9 6\ 2 3 6 1

o () +vm- (§) -3+3-2--
. 1)* 1)? 1.1 3

®vFx (3) + (-3) =2x5+5=3

® V32 Va2 \/(-5)2=3+4-5=2




3. V81— +0.09+ 1/(0.9)% - \/%—% Al4stA?

@® 3.05 @ 3.15 ® 3.25 @3.35 ® 345

1
(£4)=3-03+09- 7 =335




4.

VI21 - /(=6)% & Aktstelr,

D1 @ 3 @5

@ 7

‘ 11-6=5




5. VBI+ /(-T2 & Adstelat,

V64 + /(-7)2= V64 + VA9 =8+7=15




® 2v3







8. VIB+ V5P - V-9 & ATeh?

@9 @ 15 ® 18 @ 21 ® 27

V1694 /(-5)2 - /(-3)4=134+5-9=9




9. VI + /(=3)" - \/(=5)F & Axlslolal.

I+ /(B - B
— V144 + V81 - V625
~124+9-25=-28




10. ohe A AR F S 22

©) «/%+(—«/E)2:15 @ V52— ,/(-3)2=8
® /(-10)2 - V49 = -17 @ 0.04+ V012 =02
D () -

D V36 +(-V12)2 =6+ 12 =18
@ V52— \/(-3)2=5-3=2
® /(-10)2- V49=10-7=3
@02+0.1=




11. o5 A9 At 5 vtz 2ot 227

D V52 x (—2)2:3 @M+ V10000 = 200
® -V + (Vi3) =6 @ VI - /(97 =1

® /(-20)2 - V400 = 0

@ +0.04 + V10000 = 0.002




12.

VG- 5P+ VBT x /L & 2l sty

o3 @ ®10 @15

4 2
V36 — /(=5)% + V81 x \/g=6—5—|—9x§:7







® (Vi3)'+ (-v1)’ =17 @)(-V2)’ - (-V5) =3
® («/S)QX(_ %) Sl @ TP x P = 42
@ ‘/@+ (—4)2:3




15. oh& F AN grol the s

@ 100 - V13?2
@ _\/4x32

2

SR x —
® -/(-5) x\/%
@ -5 + Ve
 (-v2) x (¥8)" = (- Vi)

B

@ VI00- VI3Z=10-13 = -3

V4 2

@—\/(—5)2x\/i2_5:_3
@-V5>+ V6d=-5+8=3
® ()" x (V)" + (-0 =3




16. A= VST + /(77 /10 - (-V6)" & ol 42 o] gre?

6 36
@1 @ : ® 7 L Ouv

A=9+7+£—6=9+4—6=7

A% =49




17. X = V144 x <—§>2— %+(—\/§)2%W,IOX%I%:IL5’}°4

2},
> =
> = 60

&8

2
X = V144 x <—§) =
=38

2 5
—12x=-=

(5

6

[N

4
X — -2
5

3 2
whabA] 10X = 60 ©|th.




18. A, B7buhad ZE W, A+ B 9] gh2?

A= V5 + /(=2 = /B x (- 3)°

B = Vi x \/§+<_\/§>

@2 o4 ® 0 @ 1 ® 2

A=14+2-3?x2=7-18=-11

B=12X§+<—g>:12x§x<_§):_10
9 3 9 2

A+ B=-11+(-10) = -21




19.

)

2 TEN2
%%M:(\/g) + (g) ~ V9, B= VI00 - /(-13)°
A uf, 104 - B 9] & Fstoizt,

>
|> b= i 3

oHd =

B —
() - pe e

B= V100 - 1/(-13)> =10-13 = -3
w2tA 10A - B =0~ (-3) = 3 °|t}.




20. V52 =a, J(-5)2=b,-/(-5)2=cB T a®+2-c 9
&

O 30 @ 35 @40 @ 45 ® 50

VB2 =5, (52 =5, /(5 =5

oA a2 +2b— ¢ = 25 4+ 10 + 5 = 40 °o]th,




21. ohg % vix) Wat e shig gow?

® (v2)"+ (Vi) @ (-+3)° + V2
@- 2P+ v @ V22 + V12
® (-2)"+ V12

B

@ (v2)" + (VD) =2+1=3
@ (V22 +VI2=2+1=3
®-4/(-2) + VE=-2+1=-1
@ V2+VIZ=24+1=3

® V(2 +VP=2+1=3




22. A:(—v®2—(—va2—\u—m23::%¥+(—Vﬂ2+ (-5)%
(@) SEVER LY

@® -60 @ -48 @10 @ 48 ® 60

B

A=9-5-2=2

1
B:(8+2)+(5><5>:4~|—1:5

AB=2x5=10




23. A= VBI- /(32— (-2)", B= V50— (- V3) -
o] gr& Fslolel.
>

> =g -75

S5
A= BI- 32— (-v2) =9-3-2—-4

B= @—(—«/5)2—17(;=5\/§—3—5\/§=—3
108

b —= = _% = -7.5 oJth




24. VI3—a—48 WEHa o g Fotolet.

> E

> He: a=27

VA3 —a = V16,43 —a = 16,a = 27




25. V25-x=3 2 W=k x o g2 Fotoieh

> E

> He: x=16

V25-x=19, 25-x=9 .. x=16




26. a=-V5.b= V3 W, 2> - (-b)? ] G Fatolat,
=

>
> met: 7

oHd =

2a? ~ (=b)? = 2(~ V5)? ~ (- VB)?
=2%xX5-3=7




27. 4N+ 2VI6—4 ;r J(=0)? = Astetolar

cCh "
H =

>
|> o= 11

od -

1
(—715’9.)=4><3+2><4—4><§—7
=1248-2-7=11




8 10
28. % _ Ve \/66_4 _ 6 AT, qtb O] S Tstolat
£t

>
> A a+b=7

B

108 108 10*
= _—5t— 954 =14
200 ~ 2ix 10 24 o &

610

La+b=4+3=7




1012 312
29. o5 = V2, \[op =3 Al atb o] B T

® 5 @uw o015 @ 6

B

1012 1012 106
206~ 26x 106 26 OHO=0

312
ST = VE=3p=14

sa+b=10
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D 282 @ 285 ® 288 @)291 ® 294

et o, 242 x b2 -b+c 9

2 4
a:T‘/_:§:2,b:— (=6)° = =6, c = /(-2)* =2

1
.'.2a2xb2—b+c=2x4x36—(—6)x5
=288+ 3 =291




31 VISE = VI + V3 = x, 2 /B2 - VI =y,
2 Qo x4y+ 10z 9] FHS ool

o
(@]
=
|
jen)
o
—
Il

x= V196 + /(=2)2 + /(=3)%

=14+2+4+9
=7+9=16

y=2x /#Zx(-2)- V225
=2x16-15
=32-15=17

z= v0.64— V0.0l =0.8-0.1 =0.7
watA x4+ y + 10z = 16 4+ 17 + 7 = 40 ©]t}.




V225 - \/(—6)2+ \/(—3)2x24— V52 - (_\/§>2

=15-6+ /(3x22)°-5-3




. —1.8

O (e e
1 1

=——--%x04-12
2 4

=-05-01-12=-138




34. x= 13- VB-Va- - QU2+t 19 e Fotolat
cCt "

>
l> ok gy

okl =

B

x= 13- V3-B-9A
V3-V3-V3- .= V3-x=xo0lEZ

3—x=x2,x2+x=3
x4+ x+1=4




59 29 ABTL a, 29 PO AB

V(@ x b?)? & Atstolet,

cCh "
[=

>
> met: g

od -

S
=

bt

[i3
=

ul, V= 367 -

a:—\/g,bz \2
V—a? + 3b? - (aQ><b2)2




36. 31/2v18V324 9] Zr& L5lolzt,

oHd -

>
l> b= 18

B

3\/2\/18\/@:3\/2 18 /(2 x 32)*

=3,/2/18x (2x )
=3,/2,/(2x3%)?

=362
=18




408 /98 -
37. oo = V16 \/ g7 =& € ™, 10a - b € g2 Foteiet
> =

> He: 10a-b= -1

B

408 —
1004 16%,

408 224 x 58
2 7Y _9l6 _ /932 — /168
1004~ 28 x 58 16
T a=28

98

9—4:b,\/9_:92:81 L b=81
2 10a—-b=80-81=-1




38. Aol dist f(n) = /(2n-2)(2n + 2) + 4012k Do, f(=5)+
F(=4) + -+ f(4) + f(5) & = oozt

=t
H =

| 2
> Hehl 60

B

f(=5)
f(=4)

(-12)x (-8) +4=10=2x5
(-10)x (-6)+4=8=2x4

f(O); V(-4)+4=0=2x0

(5) = V8x12+4=10=2x5

(=5) + f(—4) + -+ + f(0) + - + f(5)
2644 FO+1 -1 5)

2% 30 = 60

[ = <




39. 39 29 A2} el AFZE A% a,b 2 T, TS 4

stofer.
V@5 - Vo 25

=l
[= I

>
|> Xk g

oHd =

B

a=-V3,b= V30|22,
v/ V/O(@82)? — V5a? - 252

— Vo (e VBR(BR - VB VB 2B
= \/\/_9_4—\/15—_:9_3:6




40. 21/4+/8V1024 9] & étodzt,

cCt "
=

>
l> b= 16

oHd -

B
2V4/8V1024 = 21/41/8/(2°)*

=2vV4V8x25
=2V4x24
=2x23

=24




10 10
a1, 0o = Vo S = A kb o e Tetol

610 210X310 =
— = = 35— ,/(32)°> = Vo5
125 25 x 25 x 35 (3%) Voo

V- N

a=5b=99%B2 g+b=5+9=14




42. #-x+3=40ix= vat Vat+ Var L, a0 g 75
olat.

> &

> A a=1

x=Va+ Va+ Nat oA

\/a+ Va+ Vat = +Vatx=x0R&
at+x=x*,x>-x=a

X2 —x4+3=40]B=2

at+3=14

La=1




43. AAS nol Wkl fn) = /Bn-1)Bn+1) +10]2t T of,
J) + £(2) +--- + f(10) & Zt= skt

[
H -

>
> = 165

f(10) = V29X 3T +1=230=23x10
F) 4+ £(2)+--+ f(10) =31+ 243+ --- + 10)
= 3 x55 = 165




